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No. mE2-IERE }E | B 28] & ] i =
1 REEITE 1l = 210,000
2 REIE HE:S 469,000
3 EEISE 11 =& 3,064,000
4 BiEIE 11 & 2,442,000
5 ERIE+ZHIE 1 = 1,675,000
6 RERELEFIE 11 = 953,400
7 MIE NE:S 206,000
8 RSEEE 25| H 15,000 375,000
9 SHRE HE: 380,000
10 |REE.BHIER 1l = 100,000 INE £EE

XHEWMELNOERIIRESZITHRLET, -

X H PR ER i (X H 5 AR & B & -

InE eS| = 1| =% -9,400

a it 9,865,000 (Biik)

No.1



R R NO. 1
1 RERTE -
BEE 1 = 30,000
HELE 1|l R 10,000
REMUDE 1|l = 120,000
=HLE 1l & 30,000
Bi5iEE 1| = 20,000
5lEELY)—=1T 11 = *Hh
™ B 210,000 (%e51)

No.2



BEEE RS

NO. 2
2 REITHE -

RUF—h 3l & 65,000 195,000

B LEERY{T T HE T & 1|l R 35,000

EH 1|l = 20,000

B 12| B 12,000 144,000

F—I 3l & 25,000 75,000

469,000 | (F51)

No.3



R K NO. 3

3 EEITE
LGS it 178] FEH 3,100 551,800
PBALY 208 Tk 3,100 644,800 E=ERFEE
TA4HILEEY 27| Tk 4,200 113,400
hH2—Tih 1l & 200,000
ho2B—KR 1l & 250,000 D700
R ERYFITEIE 1l R 65,000

a BER 2l ® 65,000 130,000
SHERRT U ES BE7F

a B EERY 4T e T & 2| AL 35,000 70,000 EMEST
AATRT 1| &Fr 18,000 18,000
kLA 11 & ==H1d
1 LA 11 & ==N1d
TAWBE 1| =R 200,000
HLE 1 = 90,000 ==N1d
SUSHLY 6| Fxk 25,000 150,000
LB 11 & 120,000 BE&
R LEITEE 11 =& 50,000
a7 3| &R 15,000 45,000 HHRH REBiHmERK
j=t:qm| 3| &R 6,000 18,000
L= 6] & 20,000 thik
R 4 B 30,000 120,000
B& B 2| R« 12,000 24,000
BE 2l = 12,000 24,000
BI&EM 1|l =R 30,000
K7 N 11 = fERE b
mYME 1| = 30,000
B 4| @EFT 25,000 100,000
A YA 1| = 20,000
AR L 3| Ex 25,000 =N

/s H 3,064,000 | (B3)

No4



EEXEE NO.
4 HWITE -
¥KEE 23] m 322,000
WHEEE 11 m 154,000
BEKEEE 23] m 322,000
BHERBEECH 1l = 45,000
a Kig 8| & 96,000
b FixlH 1| set 65,000
c kL 1| set 140,000 HAEDOEESR
d GRSy T 1| & 90,000 ExR
a=d |BELELE 1] = 95,000
Hhimee 1| = 120,000
BI&EM 1| = 30,000
AR |REZE = 30,000
HABRE m 198,000
HERBEECH ® 35,000
BI&EM = 30,000
#s  |SusT—K 1| = 140,000
GYAIT4IE— 1l & 70,000
By Ky B2— 1l & 30,000
TF7AN—HF 2 1\— 1] =% 45,000
FVS 1| = 20,000
SAyaATTY 1| = 75,000 BFS?M15&¥250000
ANAZIAE Yk 1 = 50,000
B EERY 4T e T & 1l =& 150,000
BI&EM 1l =& 30,000
BARKKAHS) 2| &R 60,000
m B 2,442,000 (Fe3)




R K NO. 5
5 BERIE+ZHIE

BT |tk 21| {& 6,000 126,000
AAYF 5| & 6,000 30,000
EATHE 1] = 70,000
I7avY)ear 1l K 12,000
T—FBKRRAAVF 1] = 12,000
BAFHE 1 = 90,000
JL—h—tki& 1| R 70,000

HBER |[R—ZSq+ 6| {& 12,000 72,000
A)o54k 30| {& 9,000 270,000
BBAERE 1l & 120,000
BB EE 1l & 90,000
BI&EM 1| = 30,000
HERRYRS A+ 3| & 15,000 45,000
LANZEEL & 1] = 45,000

ZH | KFHAEYMARITIV 1| set 280,000 35N
MBI ERE 1 = 90,000
EEs 1| = 20,000
BARERE 1|l =R 90,000
FLUEE 1] = 65,000
B RE 1| = 18,000
BI&EM 1| = 30,000

/s H 1,675,000 (F31)

No.6



R K NO. 6
6 REHETIE -
EE |[V0XREY 128 F% 1,500 192,000
BERZE 81| Fx( 178,200 K FEE
T 1] = 30,000
HEERIUT &% 27| % 3,000 81,000
EREEE2L)L 29| FEK 6,800 197,200
RUU#t 1| = 30,000
mAR 1| R 30,000
RERZLE 1|l R 120,000
BI&EM 1|l = 45,000
KHIHZE 1| = 50,000 WREAF I+
™ B 953,400 (He5)

No.7



No.8

R K NO. 7
7 MTHE
TILIEER 1| R 48,000 W3600H900
BEAHD YR —b 1 = 38,000
R LETE 2l AL 30,000 60,000
HEHFRSEE 1=+ 60,000

I 5 206,000 (BeRl)






